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You need: two sets of 13 counters (each set in a different colour),

two dice, a classmate

This is a game for two players.  The winner is the first player to get four counters in a row

horizontally, vertically, or diagonally.

• Roll both dice.  The larger number is the divisor, and the

smaller number is the remainder.

• Try to find a number on the game board that represents

the dividend in an equation.   

For example, if you roll 5 and 4, the 5 is the divisor and the

4 is the remainder, so you could cover one of the following 

numbers on the board as your dividend:

14, 19, 29, 39, or 64 (14 ÷ 5 = 2 r 4, 19 ÷ 5 = 3 r 4, and so on).

• If both dice numbers are the same, treat the remainder 

as 0.

For example, with 4 and 4 on the dice, you could cover 16, 36,

48, 64, 56, 28, or 32 (16 ÷ 4 = 4 r 0, and so on).

• Once a number is covered, it cannot be used again.

• If you are unable to cover a number, you miss that turn.

26 22 7 16 36

48 64 21 33 56

39 71 38 27 11

30 28 19 15 32

31 29 55 14 57
How to play
On your turn:

divisor

remainder

dividend

2  r 4
5  14


